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QUESTION 1

Which three TIBCO BusinessEvents objects can be stored in cache servers? (Choose three.)
A. Scorecards

B. Global Variables

C. Rule Functions

D. Concepts

E. Events

F. Rules

Correct Answer: ADE

QUESTION 2

Which three statements are true about TIBCO BusinessEvents Views? (Choose three.)
A. A view is a collection of dashboard pages.

B. A dashboard page is a collection of views.

C. A backing store is required for view data.

D. View data can be stored in cache servers, and a backing store is optional.

E. A Dashboard agent may run in the same JVM as Inference agents.

F. A Dashboard agent must run in a separate JVM.

Correct Answer: ACE

QUESTION 3

What are three available options when starting the TIBCO BusinessEvents engine from the command line? (Choose
three.)

A. Path to the CDD file

B. Processing Unit

C. Object Management Provider

D. Enable TIBCO BusinessEvents add-ons

E. Path to the EAR file
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Correct Answer: ABE

QUESTION 4

How do you override the default event for a JMS destination?

A. Map incoming messages directly to an event in TIBCO BusinessEvents
B. Map incoming messages only through the_ns_field in the message

C. Map incoming messages only through the_nm_fieldinthemessage D. Map incoming messages through two fields
(_ns_,_nm_) in the message

Correct Answer: D

QUESTION 5

Which two can be used to generate TIBCO BusinessEvents 5 project EAR files? (Choose two.)
A. TIBCO BusinessEvents Studio

B. Command-line utility studio-tools.exe

C. Command-line utility buildEar.exe

D. TIBCO Designer

Correct Answer: AB

QUESTION 6

Which three statements are true about the TIBCO BusinessEvents Monitoring and Management
A. TIBCO Hawk is required for monitoring of machine level metrics.

B. COPSSH is required for monitoring of machine level metrics.

C. Memory-based object management is supported.

D. Cache-based object management is required.

E. Monitored agents and nodes must belong to the same cluster.

F. Monitored agents and nodes can belong to different clusters.

Correct Answer: ABD

QUESTION 7
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Which TIBCO add-on software can you use to retrieve real-time information about objects collected in cache?
A. Data Modeling

B. Decision Manager

C. DataGrid

D. Event Stream Processing

Correct Answer: D

QUESTION 8

Which two are supported TIBCO BusinessEvents deployment options? (Choose two.)
A. Deploy in a J2EE compliant application server

B. Deploy using the TIBCO BusinessEvents Monitoring and Management interface
C. Run as a standalone application using the be-engine command

D. Deploy as an TIBCO ActiveMatrix node

Correct Answer: BC

QUESTION 9

Which statement is true about rule conditions?

A. Conditions for the same set of scope objects are evaluated in the order they are defined.

B. Conditions for the same set of scope objects are automatically combined (andand-ed) in a single condition.
C. Rule agenda is recomputed after execution of each rule action that changes the working memory state.

D. At least one condition must be evaluated to true to trigger a rule.

Correct Answer: C

QUESTION 10

Which two SOAP web service types are supported by TIBCO BusinessEvents? (Choose two.)
A. Document/literal SOAP over HTTP

B. Rpc/encoded SOAP over HTTP

C. Rpc/encoded SOAP with attachments over HTTP

D. Document/literal SOAP with attachments over HTTP
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Correct Answer: AD

QUESTION 11

What are three functions of be-engine.exe? (Choose three.)
A. Installs TIBCO BusinessEvents application as a service
B. Adds a new Processing Unit to CDD

C. Starts debugger service for remote debugging

D. Generates new EAR files

E. Starts a Processing Unit from CDD

F. Validates a CDD file

Correct Answer: ACE

QUESTION 12

Which resource type describes a SOAP web service exposed from TIBCO BusinessEvents?
A. SOAP event definition

B. XSDfile

C. WSDLfile

D. HTTP channel

Correct Answer: B

QUESTION 13

Which two statements are true about event preprocessors? (Choose two.)

A. Event preprocessors are multithreaded.

B. Consuming events in a preprocessor are not allowed.

C. Existing concepts can be modified in the preprocessor.

D. Event preprocessors are rule functions with one argument of type simple event
E. Event preprocessors are used for Time or Advisory events.

Correct Answer: AD
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QUESTION 14

You have a condition column of a decision table, which specifies ranges of values for the concept property client_age.
The table has one row that specifies the range: > 18 andand 30 andand

How should you check for uncovered ranges in the decision table?

A. Use Decision Studio\\'s Table Analyzer

B. Use the Problems tab of TIBCO BusinessEvents Studio Editor

C. Use Decision Studio\\'s Project Analyzer

D. Use TIBCO BusinessEvents Studio\\'s Project Validator

Correct Answer: A

QUESTION 15

Which three state types can be used when creating a State Model? (Choose three.)
A. Simple

B. Referenced

C. Composite

D. Contained

E. Concurrent

Correct Answer: ACE
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